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Valve AF\‘;)“" i Sc('\f)en C“g;gd‘-‘ Cl53,555254615657_60,5%65647170 56 6766 62 63 |
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Via ECC85 .. [' 196 —_ 1-65 R, ab, % 32b 5 I
f — pu— p—
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v2a ECHBST .. E EH = 13 FERRANTI - SRG1090 R29 L17 q
v2b ECHSE ..J*| 195 | 102 | 15
t| 227 %0 | 12
lvs EBF8Y .. *| 160 85 13
‘ t| 210 % ! 13
v4 EROI .. — = e
Vv5a ECL86 ../ *| 115 — 13
1+ | 130 — 13
vsb ECL86 .. *| 235 | 185 | 46
1| 240 | 205 | 46
Véa ECLS6 * 115 — | 13
t| 130 — | 13
Véb ECLS6 *| 235 | 185 | 46
t| 220 | 205 | 46
* Recetver switched to f.m.
+Recetver switched to a.m.
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K ‘
. Resistors R29 220k
R30 63002
Ri 150Q K8 R31 47kO)
R2 13k B2 R32 47KQ
R3 IMOQ K8 R33 47kQ)
R4 47RO A2 R34 47kQ
R5 IMQ Bl R35 120Q
R6 22k J6 R36 120Q2
R7 33k J6 R37 6800
R8 22k0 J6 R38 6800
R9 1000 J6 R39 220
RI10 7O 6 R40 220
Ril 68k 16 R4l 1800
R12 47k H5 VRI 2MQ
RI3 IMQ  H5 VR2 IMQ
Rl4 IMQ G5 VR3 1IMQ
RIS 22k H5 VR4 5kQ)
oo =
-8 5 .

RI8 47%Q G5 } Capacitors
R19 22kQ  Gé c1 1,000pF
R20 330k H5 C2 1,000pF
R21 47RO G5 c3 —
R22 47kQ  H5 | Ca 470pF
R23 - ¥ Cs 0-01uF
R24 — 1 | Cs 82pF
R25 180k DI || &7 6pF
R26 180kQ DI Cs 12pF
R27 33kQ  F5 Co 51pF
R28 200 C3 || Clo 10pF

Cl1

CIRCUIT ALIGNMENT

Two methods of f.m. if. alignment are
given, a visual method using a sweep fre-
quency generator and oscilloscope, and a
meter method using an f.m. signal generator
and audio output meter.

Equipment Required.—A sweep frequency
generator and oscilloscope if visual alignment
of the f.m. if. circuits is employed, or alter-
natively an f.m. signal generator; an a.m.
signal generator; an audio output meter; a
0.01xF capacitor and a 3 ohm 3W resistor.

F.M. L.F. Circuits (Visual Method)

1.—Connect the audio output meter across
the loudspeaker sockets of the audio chan-
nel to be used and connect the 3 ohm 3W

Switch Table

| i i
MW | LW | Mono, Scereo:
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i .
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Switch VHF
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resistor across the loudspeaker sockets of
the other channel, to act as a dummy load.
Switch receiver to f.m. and tune to a spot
at the Lf. end of the band. Disconnect the
positive end of C49,

2.—Connect the sweep generator to V3 pin 2
and connect the oscilloscope across R21.
Feed in a sweep signal with a centre fre-
quency of 10.7Mc/s and adjust L12A for
peak response.

3.—Re-connect C49 and connect the oscillo-
scope between chassis and the junction of
R17 and C41. Adjust L13 for the best
“8” shape response, readjusting L12A if
necessary.

4.—Transfer the sweep generator to V2 pin 2.
Disconnect the positive end of C49 and
connect the oscilloscope across R21. Ad-
just L7 and L8 for maximum output with
a smooth response at 10.7Mc¢/s.

5.—Connect the sweep generator via 0.01:F
capacitor to the junction of R2 and Ci1.
Adjust L4A and L4B for maximum output
with a smooth response at 10.7Mc/s.

F.M. L.F. Circuits (Meter Method)

1.—Switch receiver to f.m. and connect the
audio output meter and 39 dummy load
resistor as in operation 1 of “F.M. LF.
Circuits (Visual Method).” Adjust the
balance control to give maximum audio
output.

2.—Connect the f.m. signal generator to V3
pin 2. Feed in a 10.7Mc/s +75kc/s
deviated signal and adjust L12A and L13
for maximum output. Check the quality
of sound output and if necessary adjust
L13 for minimum distortion.

12pF K9 || ci8 82pF A3 Cc25 100pE 16
F5 C12 8-2pF K9 | ’ Cl19 0-01uF J6 C26 100pF J5
D2 C13 125pF Al it C20 — B2 C27 410pF Bl
B3 Cl4 0-01uF Al C21 — B2 C28 —_— B2
D3 ‘ C15 4,700pF 17 1 C22 0-03uF I6 C29 465pF H5
B3 Cl16 0:01uF i5 C23 100pF A3 C30 — B2
C3 C17 100pF A3 C24 15pF A3 C31 — B2
S|l - 1 €32  oo0luF G5
D2 C33 0-01uF G5
B3 3.—Transfer the signal generator to V2 C34 200pF c2
D2 pin 2 and adjust L7 and L8 for maximum C35 003uE  J6
B3 output. Then transfer the signal genera- G36 011K H5
F6 ol : h & 3 C37 47pF H5
D1 tor via the 0.014F isolating capacitor to C38 200pF Ca
C1 the junction of R2 and Cl, and adjust C39 47pF C2
Bl L4A and L4B for maximum output. Use C40 220pF G5
G5 the lowest input signal possible for ade- C41 5,000pF G5
quate deflection on the output meter. Ca2 1,500pF G5
. C43 100pF HS
4,—Connect the f.m. signal generator to the Caa 100pF G
T i p 5
K8 f.m. aerial sockets and feed in a weak C45 0-03uF H5
Ks signal at any point in the f.m. band. Tune C46 1,000pF Bl
B3 the receiver carefully to this signal for C47 220pF G5
K38 minimum distortion. Then switch off Ca8 100pF G4
IB(% f.m. modulation and adjust VR4 for mini- 8‘;8 040%“2 555
) mum noise (maximum a.m, rejection). C51 2205}: G5
8 3
Ko A.M. LF. Circuits &2  qex
K8 1.—Switch receiver to m.w. and tune te ggg %’83%51}: B%
500m. Connect the audio output meter C56 > AuF C3
and 3Q) dummy load as in operation 1 of C57 100pF Cl1
“F.M. LF. Circuits (Visual Method).” ggg lggpg 812
i L.
IC’Iicr)lrmzect the a.m. signal generator to V2 ' Ceo 100F B3
PR Cé61 32uF D2
2.—Feed in 470kc/s 30 per cent modulated Cé2 204F D2
signal and adjust L15, L14, L10 and L9 C63 40, F D2
in that order for maximum output. | Co4 0:01uF D3
C65 0-01uF C2
A.M. R.F. Circuits \ Cé6 50uF D3
Co7 50uF B3
1.—Switch receiver to m.w. and turn all Co68 0-01uF K8
controls to maximum. Connect the signal | C69 0:01,F  H5
generator via a dummy aerial to the a.m. ! g;(l) %ggpg }éll
aerial sockets. f(1:1heckl th;t when the ‘ <P
tuning gang is fully closed, the cursor i
coincides with the datum mark on the ?o”s and Trans-
scale. Adjust if necessary by sliding the jfermers
cursor along the drive cord. Then tune i LB — B2
to_500m. L Lz, - %8
2.—Feed in a 600kc/s modulated signal and | 13B - K8
adjust L11B and LS for maximum output. ‘ L4A — K9
3.—Tune receiver to 214.3m. Feed in a . L4B — K9
1,400kc/s signal and adjust C31 and C21 15 — Al
for maximum output. ©Le — A3
4.—Switch receiver to lLw. and tune to k; - 22
1,400m. Connect the signal generator to © 1o — A3
V2 pin 2 and feed in a 214.3ke/s signal. | Lio — A3
Adjust C28 for maximum output. | LUA — I5
5.—Re-connect the signal generator via the L11B — I5
dummy aerial to the a.m. aerial sockets | Liza - C1
and adjust L6 at 214.3kc/s for maximum N }:}%B _ 8%
output. ‘ 114 — Cc2
F.M. R.F. Circuits st - @
1.—Check that with the tuning gang fully & ]rfi.] _ D3
closed the f.m. tuner carriage is +sin from l T2 — C3
the fully open position. Adjust if necessary 1 T3 — E4
by rotating the drive collar on the gang |
shaft. Connect the f.m. signal generator \Miscellaneous
to the f.m. aerial sockets. EB1 _ K8 ‘
2.—Tune receiver to 92Mc/s mark, feed MR1 FCl24 G6 |
in a 92Mc/s signal and adjust L3 for PL1, PL2 6-8V 3W H6 1
correct calibration, and L2 and C3 for ME.S. G6
maximum output, S1-s14 - Bl
S15, S16 _ Dt
tNo component. l
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. . . Drive
The tuning drive assembly shown with the drum

a.m. tuning gang fully meshed and the f.m.

plunger fully in. The tuning control spindle

operates two separate drives simultaneously,

one for each tuming system. Details of

replacement of either drive are described
under *“ General Notes”

Tuning gang
spindle

1'% turns round control spindle
p 1

Drive Cord Replacement (Main Drive).—For
a replacement drive cord approximately 56in of
cord is required. Connect one end of the cord
to the tension spring. With the drive drum
facing and turned so that the tuning gang is
fully meshed, attach the tension spring in posi-
tion on the drive drum. Make a half-turn clock-
wise round the drive drum then route the cord
round pulleys “ A, “B” and “ C,” make one
and a half turns clockwise round the tuning
control spindle and continue round pulley “D”
anti-clockwise.

Switches.—S1-S14 are waveband and gram
switches which are housed in a rotary unit
assembly shown in location reference Bl. Their
function is indicated in the switch table in col. 4
where, under the respective headings, a “C?*
means closed and a ‘“dash” means open.

S1S and $16 are mains on/off switches which
are ganged to the volume control.

From pulley “ D,” take the cord back to the
drive drum, make a half-turn clockwise round
the drum and attach the free end of the cord
to the tension spring. Adjust the spring tension
and seal the knot with shellac.  Attach the
pointer to the right-hand end of the drive cord
and adjust its position to_coincide with the
datum matk on the scale with the tuning gang
fully meshed.

Drive Cord Replacement (F.M. Unit).—To re-
place the f.m. unit drive cord, fully close the
tuning gang and attach the replacement cord
to the slider on the unit. Place it over the pivot
pulley and down to the drive drum spindle.
Make one and three-quarter turns round the
spindle, thread the cord inside the upper screw
in the collar and attach it to the lower screw as
shown in the sketch, col. 3.



